AVERAGE RATE OF CHANGE
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Fxponential Growth

Here's the graph of y = 2%~ 4
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1.) Whyis thls graph exponential growth?
i1 e readirg
2.) Where is the rate of change the highest? Explain.

a”fkwm{ rhF é/C _g‘}ég,({[/'

3.) To confirm, find the AVERAGE rate of change

for each interval:
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1 somebody were to ask you the rate of change for a curve, you would have to say that the rate of change

Exponential Decay

Here’s the graph of y =.7*+ 1
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4.) Why is this graph exponential decay?
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5.) Where is the rate of ¢
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6.) To confirm, find the AVERAGE rate of change

for each interv:
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What is the average rate of change for each function over the given mtcn al?
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